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List all possible rational roots.

f(x) = 12x°> + 6x* — 7x3 + 2x% — 3x + 18
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Find all possible rational roots and
then find ones that work.

F(x)=2x"-11x" —4x+9

*1,xz *3 ’-",3_,"‘7 +Z2  OKis+ +He
possible (ational
foors

2(Y - Il(\} -4(-1)49: 5 SPlug Ha passivi

roo‘rs NTY The eb

\ vow Find ena”
;\_j 2 -t -4 Q( mxsanqmw
, 2 1> 9 oF B
A4 COUVse. tha root
o% "\3 q =3 %or\-\‘.'an%oﬂa;'"o
2% -l3>< +? do Sjn’l'f\.chc_ W
@ e the
13+ 13 - 4C)R) Quodferie
SR — @a::&mhc $oimila
Ceors

clo 4 -Par et
( c;:e \[ow-G.)\nd\s")

January 30, 2019



Rational Root and complex conjugate notes 2019.notebook January 30, 2019

(K-1) (204X x4% — 1) fachors

1

al 2 0 0 1 =l
J ( ] | /

24, 2.2, 2 ‘e

< Mo \.a

XX X+ |
LI R A S
A

G R N N

X 4+ =0 Lasuane. (on-
S PlAhod_




Rational Root and complex conjugate notes 2019.notebook January 30, 2019

Rational Root Theorem

Solve. f(x)=x"—-4x>+6x-4
List the roots and then list all of the factors
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Conjugate Root Theorem

If P(x) is a polynomial with REAL coefficients,
then irrational roots of P(x) occur in conjugate
pairs.

So...
If V2 isaroot, then—y= mustbe a root

If 2-v= is a root, then 5+ (& must be a root
-J+V6 -3k
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Find the lowest degree polynomial

with the following roots
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